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G=Q

1. Berechne die Losungsmenge:
Aufgabe Lésung
a) 4-3x=2x+7 L={-0,6}
b 4-2x=4x-8
c —6-x=x-10

—3x4+490=5x-1
—30x=15x4+45
B—x=x+4+3
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¥x—4-3x=x4+7x-0
Sx—-4+4x=7x+8-6x-4
¥x—2+7x=-4x-9x-7-x-17
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2. Berechne die Losungsmenge:

Aufgabe Lésung
B—(x+3)=x4+2 IL={1.5}
1-2x+4)=-x-1
S-2x+4)=—-(2x-8)
2(Bx+3)=6(2x-1)
4-5-(x+3H-x)=x+7
OB—ix—(5x+3)—-x)=06x+1
—2(l-(x+3=x-4

1+ (-B—-(—-x-7N=5(x-1)-1
¥x—(—-2-3ix+2)y=-2(x—-4 - 12
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3. Berechne die L6sungsmenge:

Aufgabe Lésung
a) | x-2@B+x=x*-7 L={-1}%
b) (x—B)(2-x)=(x—-1)(6—x)—4
C) (Zx+DEBx-hH=(6x+3)(6+x)
d) Bx+1?=0O9x-1(x-2)+24
e) (4x-2 =(2x+5)(Bx+ 71 +4

[x+ﬂ2=(2x+52—3f
9) (x -4 = (x+5)°

0 | -3
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i) [Bx——l]h=[2x+—1]h+5x2
3 6
4. Berechne die Losungsmenge:
Aufgabe Lésung
-1
a) | XXl L={7}
2 3
) | XleX2oy
4
x+2 3-x
_+_=4
°) 4 5
d) x+2+3—x_1—x:x
4 5 2
x—-1 3+x 1
= o=
) 6 7 3
1 1 15
f —2x+1)+=-(3-2x)— — =143
) S @x+ o (3-20-—
x=-7 1
4+ _(7-2x)-2=5=x
9) = 4( )
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1.

Berechne die L6sungsmenge:

Seite 3 von 4

Aufgabe Lésung
a) 4_3x=2x+7 L={-0,6}
b) 4-2x=4x-8 IL={2}
c) —6-x=1x-10 IL={2}
d | -3x+9=5x-1 IL ={1,25}
e) —30x=15x+45 IL={-1}
f) B-x=x+3 IL={2,5}
) x—4-3x=x+T7x-9 IL={0,5}
h) S5x—4+4x=7x+8-6x—4 IL={1}
i) x—2+7x=-4x-9x-7-x-17 IL ={-1}
2. Berechne die Losungsmenge:

Aufgabe Lésung
a) B-(x+3)=x+2 L={1.,5}
b) |1-@x+d4=-x-1 L ={-2}
c) 5(-2x+4)=-(2x-8) IL={1,5}
d) 2(Bx+3)=6(2x-1) IL={-3}
e) 4-(5-(x+3)-x)=x+7 IL={5}
f) 6-(x—(5x+3)—x)=6x+1 IL={8}
Q) —2(1-(x+3)=x-4 IL ={-8}
h) 1+(-8—(—x-7)=5@x-1)-1 L={1.5}
i) X—(—2-3(x+2)=-2(x—4)—12 IL={-2}
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3. Berechne die L6sungsmenge:
Aufgabe Lésung
a) | (x-2@+x)=x*-7 L={-1}
b) (x-8)(2-x)=(x-1(6—x)—4 L={2}
c) (2x+1)(3x—4)=(6x+3)(6+x) IL ={-0,5}
d) (Bx+ 17 =0Ox-1D(x—2)+24 IL={1}
e) (4x-2° =(2x+5)(8x+71+4 IL={-0,5}
f) (x+ 7P =2x+5%-3x7 IL={4}
9) (x—4)° = (x+5)° L ={-0,5}
132 342 _
W | (-g) =(+3) L=(-1/8}
132 1132
1 _ _ — _ 2 = 7
i) [Sx 3] [2x+ﬁ] +5x° L={1/32}
4. Berechne die Losungsmenge:
Aufgabe Lésung
x+3 x-1
- — = IL={7
a) 5 + ; X {}
x—1 x-2
e T | = 2
b) B + . x IL ={0,
x+2 3-x N
q | XE2pdzx_lox L={11/3}
4 5 2
x—1 3+x 1
T =
e) ot 7 3 IL={39}
f) é(gx+1;+§(3_zx;_§=m L ={-185}
x=-7 1
9) T+‘—}[?—2x]—2=51‘ ]L={-U,T5}
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